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Questions : 1

What number should replace the question mark?

Ans: 49
(7x9)-6=57
(8x6)-7=41
(9x3)-4=23
(10 x 6) - 11 = 49

Questions : 2



Which number should replace the question mark?

Ans: 14

17+11+12)-(14+19) =7
(18 + 16 +15)-(6+5)=38
(19+16+2)-(15+8)=14

Questions : 3

What number should replace the question mark?



Ans: 28

(9+8)x1=17
(5+6)x3=33
(6+7)x4=52
(3+11)x2=28

Questions : 4

What number should replace the question mark?

48

Ans: 6
7-1=6
6Xx7=42

Question : 5



What number should replace the question mark?
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